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Kutoka swali la l6—30]1bu kulmgana na " D.Haraka, leo, juzi, zamani =~ - -
' maagizo. A¥wmr 2 § 23 Andxkasentensnmnkahkam Hu
16. Wanafunzi wote wallwasmmapema | nilipoingia.
hawakutakakuadhnblwa, S o R . P A.halmrmtamhpomgra
A.ili v Bl e | B.hawakutuita tulipoingia
C.kwakuwa Dkan?v;lg RTINS I C. hawakumwita tulipoingia
17. Nisentensiipisahihi? =~ -~ |+~ D, hawakukuita tulipoingia
.. A.Cherehani yangu imeharibika. - . | 24. Teguakitendawili hiki. Akiondoka hatuonani.
B. Sote walifika alfajiri - o Ausiku - - B.kioo
C. Matatizo ni nayo mengi. 3 C.giza ’ D.mwangaza
D. Yeye hujitahidi masemoni mwake. ] .25, Nisentensi ipi inayoonyesha hali ya kutendwa?
18. ' Ukubwa wa sentensi. Kichwa cha ng’ombe A alifikiwa na ujumbe wa tanzia akicheza
- Kimekatwani | B.tulimsaidiaalippataujumbe wa tanzia
A. Jijichwa la gombe hmekatwa » I tuhpongezana baada ya matokeo mema
B. Jichwa la gombe limekatwa. - - D.tulikaribia’ ukongomkwauchovumwmgl
C. majichwa ya magombe yamekatwa 26. Sentensiipiinakielezi?
D. kijichwa cha gombe kimekatwa. - A shughuli za kikazi zimeshamiri
19. Nimethali ipi ambayo inahimiza uvumilivu? B. vyama vingi vya kisiasa vimefutiliwa orodha
A. Tembe kwa tembe huwa mkate ‘ - €. michezpinaendeleakunoga :
B.Zoharininyumbayanjaa D. vyombo vidogo vinaelea majini
C. Mwenye pupa hadiriki kula tamu ; ' 27.  Tajakiwakilishi katika sentensi hii.
D. Ndugu mui ni heri kuwa naye “ A. Alitufahamisha yale jirani yake hakujua.
- 20. Ng’ombehuishikatika __ E A.yake - B.yale
A husuni B.tundu ' C.jirani D. hakujua
C. kombe D. chaa = | 28 Kipinikihisishichamajuto? =~
21. Tambuasehemuxkatikaumbohili. ’ A. Hario! B. Jamani!
: - C. Aka! - - D.Lau!
29. Orodhaipiiliyo nanomino za wingi?
A. uji, ugali, chai, miwani, mate
B. uzima, maisha, usingizi, matata
C. Kenya, Uganda, Mashariki, Musa "
: : D. kalamu, masoko, kalamu, magari
A. urefu B. tako 30. Andika kinyume cha sentensi ifuatayo. -
C. kiegema D. pembe kkali - Shangazi amenunua fahali.
© 22.  Chaguakundi lenye maneno ambayo ni vivumishi. A. halati amenunua beberu
A. nyekundu, mashuhuri, rojorojo, hodari B. halati ameuza mtamba
B. chaki, nyumba, nyama, soksi : 1 C. mjomba amenunua mori
C.Pu!, Tifu!, Ewaa!, Lo! ' D.amuameuzamatamba
 Soma ufahamu huu kisha ujibu maswali 31-40 gt

Majanga yaliua watu zaidi ya 22,000 mwaka jana huku klmbunga Haxyan nchlm Uﬁhpmo kxklwa klbaya zaidi ya
majanga yote, shirika la msalabamwekundu likisema. =~
Katika npotl yake ya kila mwka kuhusu majanga, shmka mama la msalaba mwekundu hlhonya kuwa mtazamo
wa hali ilivye ni wakufadhaisha. “Mabadilike ya hali ya anga yanaharibu maisha ria kuzidisha madhara. ‘Majanga ya ainh:
hii pia yanazidi kutokea mara kwa mara na kusababisha madhara zaidi. Madhara hayo kwa mifumo ya kuamu
kimaumbile na kiuchumi yanaelekeza dunia katika enzi mpya ya hatari; . it ¢
Haiyan ilitua kwa kishindo mwezi wa Novemba 2013 na kusabablsha dhoruba kubwa katlka mp wa Teclohan ,
na maeneo ya karibu ya mkoa wa mashariki wa Leyte. Takriban watu 7,986 waliaga dunia. :
~  Jangalapili baya zaidi lilikuwa mafuriko yahyotokea Juni 2010 nchini India. Mafuriko haya yallwaangarmza
watu 6.054. v 5
Idadi kamili ya vifo v1l|vyosabablshwa na majanga yaaina hii mwaka Jana ni22.452 kuhngana na shmka a
msalaba mwekundu ‘ :
Idadi Hiyo'ilikuwa chini sana kuliko hesabu ya kadri ya vifo 97,954 Katika kipindi 2004-2013. _
Vile vile ilikuwa chini sana kuliko idadi ya juu zaidi ya vifo katika muongo uliopita iliyorekodiwa mwaka 2004
~ palg watu 242,829 waliangamia wengi kutokana na tetemeko la ardhi katika bahari ya Hindi lililosababisha Tsunami

baaAda_ye'
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- Idadi ya watu walioathiriwa na majanga katlkamwaka 2013, , takriban 100 milioni wengi wakiwawa bora Asia
chlm zaidi katika mwongo uhoplta. ,,,,,,,,
.7 Hatahivyo, takwimu ni sehenu yamasnnuhzr Hum kwa sababu majanga namaafayameenea bila utaratibu
maalum wa kuyarekodi, kwa hivyo kulinganisha mwakakwannngme kauka takwunukama hmo hakuna manufaa. Kila
takwnnuzawezakubannuwezowakukabﬂnnhnamaaa&t : :
Kwa mfano, watu 36 walifariki wakati kimbunga cha Phailin kiligonga India mwezi Olctoba 2010.°
_ Maelfu ya watu waliokolewa hususan kutokana na mpango wa kupunguza madhara unaosifikasanana -
uliojumulisha kuhamisha wakazi mapema, hatua myochukuhwatenawakankxmbungaHudhudklhpoplga ’ :
Mabadiliko ya ghafla ya kiuchumi, ongezeko la xdadx | yawatu na ukua_u wa miji ni katika mataifa yanayoendelea
ni mambo yanayoweka watu hatariri zaidi.
Wataalamu wanaendelea kuonya kuwa mabadiliko ya hali ya anga yakichochewa na gesi katika vyumba vya
~ green houses kumsabab:sha kutokea kwmg1 kwa hali mbaya yahewa kote dumam

31 Kwamm takmmumnaonyes}mmajangahaznwezn 36. - Muon'go an_ibao watu 2,829 waliangamia ulianzia
kuaminiwa sana? ~ Ini?
A. Hazistahili hata kidogo | E—T N o B.1995
'B. Takwunuhuonyeshamajangayaba:aAsm G C.1993 D. 1994
C. Takwxmuhaz.uafanylwautaﬁtlwakxsayanm | 37 Dhorubahusababishwana
4 D. Kmhukuasehemundogoyamaafaulmwcngmn : A. maporomoko yaardhi
32.  Taifala Ufilipino hupatikana katika bara lipi? : B. kukauka kwa ardhi
A.Afiika .~ - B.Asia T ; C upepovwenye nguvu sana
_ C. Amerika D. Uropa 1 D.mvuanyingj
33. ' Ninini kinachochangia zaidi ma(ﬂlaradumam" 1 38 Madharakamadhoruba, mafunko na tetemeko la
A. ongezeko laidadi yawatu ! ardhiniya .
B. ongezeko la miti duniani - _ _ A.kiuchumi : B.kJmaumbile
C.mageuzi katikahaliyaanga =~ . ' C. kibinadamu D. kisayansi _
D. ukuaji wa uchumi wamatmfayahyoendelea 39, KwanunmadhaxayakunblmgachaPhaﬂonyahwem ,
34.  Jangalamafuriko nchini | Indizhucliochewana - kudhibitiwa__
A. mvuanymglyamasxka ' - A kuhamisha watu '
B. bandxshadldl" T 1 .+ B. kmmanshauchunnwatalfahusﬂca
C.kiangazikikubwa =~ . A C. kuwa na mipango kabambe kabla ya madhara
D.gesinyingihewani . =~ " Gt kutokea .
35. Nibaralipi hnaloaﬂnnwamidmanﬂ)angakuhngana { D. kuwaondoa raia kwenye mnnuko ,
nakifungu? ' 3 - 40. Tetemekolaardhinisawana
A. Afrika " B.Asia | Azlizala . Btufani
C. Uropa D.Amerika 1 C.kimbunga .D.maﬁlrik_o

Waama ki gumba kwa nguruwe kwa binadamu ki uc}nmgu Hn ndlxyo hah mayohkumba bata laAfnka huku

mkurupuko wa janga la Ebola ukizidi kusambaa kwa hali ya kutxsfna
' Hivi majuzi kituo cha kadhibiti maradhi. CDC chenye makao yake Atlanta, Marekani katika hamapasxpo

kupepesa ukope kawa chanja dhidi:yaEbolainaweza tu kuf@ya kazikwawatu walio nangozi ayeupe.

Iwapo) huo si ubagu: | warangi k@tfkakarma hiiya2l, ba31 ni uzumbukuku wa ajabu. Bila shaka hlZl zmam.
kuua shaka na hasa ya magahnbl kuhusu / Afrika nasi bure tctesn kuwa L gonjwa hili ni njama ya mataifa ya ulaya.

Haya yariajiri hoky: ulimwengu! ukifahamishwa kuhusu kifo cha kwanza cha raia waAmenka kutokana na Ebola
pamoja nakisa cha kwanzaéha maam’mikm ya Ebola kunpoqwa nchini Uhispania, hatan zflhzopokeféwa kwa mseto wa
hisia za bezo na hasim, . b4 X

Matukio haya yanaﬂm;z ,kumbukmnbu zaklho cha lala mmoja wa Liberia alqsema Ebola maamma.hza buku
' uhmwengu ukitazama tu!
: Raia huyu alieleza Kupitia maka}a yake Jmsn nchi zamaghanbx thvyoyaonyesha klsogo mataxfa yaAfnka .
Maghanbl kwa kuyaacha kukabiliana vilivyo na janga la Ebolh huku znknfahamu vyema thataifa haya hayana uwezd'wa
kutosha, .




katika mataifa yaAfnka Maghanbx Liberia, Sierra Leone na Gumea

Magharibi. -
" Madai kwamba chanjo dhidl ya Ebola inawezatu kuwafaawahowangom nyeupekando nakuwam ubagun
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Co Kwamaskako mwandishi alizidi kueleza jinsi wahmimnuwaAfnka wanavyomoamhangakuhatanshammsha -
yao kwa kuhudumia wawele wa Bbolabﬂayatmvazx ya kupkmgahah myochangla werxg1 mwahlsam hao waklaﬁ'xka
kufariki hxtohmmmamﬁlhaya. : :
- Siajabuhasakutokana na matukio haya baadhi ya watu wameanzakusmh nia hasaya shmka laAfya
ulimwenguni, WHO kuhusuAfrika. Hasa kizingatiwa kuwa shiirika hili lxhﬁmgmicambt yake nchini Sierra Leone baada
yamtaalamu mmo_;awa maabam waasﬂl ya lqmaghan"bl kuambuklzwavn'us: hlvyo na kamakawaida kusafirishwa kwa
ndege hadi Amerika ambapo ahpokea qhanjo nakupona huku madaktan na wauguzn waafnka waklendelea kufankl

Kuffkla sasa Ebola imesababisha vifo vya watu za1d1 ya 3,865 rmongoin mwa watu 8 033 wahoambukuaAﬁ'lka '

wa rangi, yanadhihirisha kwamba Magharibi haina nia ya dhati kuhusu Afrika yamkini klmamamayaMaghanbl ya
kuendelea kulikandamiza Barala Afrika (Talfa 10 Ijumaa oktoba2014) : ;

41.

.

43.

Ni jambo lipi ambalo linaonyesha kuwa barala -

Afrika hnabaguhwa kauka vita dhld‘l ya Ebola?
A.kudinda kuyajengamaabara ya EbolaAﬁﬂca
B. kukosakuwatmna vataalarmy Ebola
C.kudai chanjoma

avazng

D. kutoshmkxana namadaldanwaklaﬁ'lkakankai .
- kutafutatibayaEbola, - .

UgonjwawaEbolanitishokwa - .-
Aullmwengummnakwajmnla o
B. Barala Afrikd. :

- C. Barald'Amerika.

D. Bara la Uropa.

Mwandlshx anamaamshamm anaposema . pasipo '» :

. hata kupepesa macho o _
~ A.bilauoga- B. biléaibu
C. bilahumm D. bila kUShangaa

44. \Ni Jambo Ia kustkmsba kuywa

45.

A. Bara la Afrlka llnapuuzwa na matalfa ya -

Maghanbl
B.Bara iaAfnka linapuuza matmfa ya Maghanbx

&m la Afnka ag mmaxfa ya maghhnbx yana‘; & |

ushitikxano

B :.i Mmgmlfa)’ﬁﬁ@sa, TP IR R OO RRLE |
. C. kuupaza mataifa yaAfnka

thpendamatalfayaAﬁ'ﬂca 4 g A

saaif it/ TR A DS FHIFLELIVS A0 | RS F O b

46.

47.

48.

49

Kulmgana na kifungu hiki, kwa nini maabara
yahjengwa katika taifa la Sierraleone?

A kusmdnamﬁmfayaAﬁnka k0 e

B. baada ya wagomwa wa nchi hii kuongezeka

C. baada ya shirika la Afya ulimwenguni kuona
Ebola ikisambaa

- D. kugundua kwamba ‘ugonjwa wa Ebola
unawaathiri wote. P ;
Kwa nini mataifa yakiafrika hayawezn kukabﬂlana
naugomwawaEbola" e '
A kukatwaakusaldiwa N

B. ud!mﬁxwamaendeleo ya kxsayansn

- C.kutojua kuhusu! ugonjwawa Ebola

D. wagonjwa kukataa kutibiwa, .
Eleza maana ya neno yamkini. -

" - A. kuwana hakika

B. kutokuwa na hakika

C. kuwh na hakikaidogo

‘D. kukosa triatumaini

Njgamq%)a ya kusamb@a kwaugqmwa wa Ebola ni

‘ﬁ?‘fhia'féi"l'é :Afiriiia' ‘Si:iﬁ?ihimii ‘liwa"' niétéf?a 5‘!3 ] Wty hiAfr

b B Kukosakusaldxwanamadaktén waMaghaph:

D Kuwahudum1a wagomwawmg; R

S WS LIAMOL A A NN S a g 1

s .,‘: ;‘;/;‘;:
KIS I{MEA
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In a meeting, there were 180 men present. There

were 100 more women than'men and twice asmany :|

children as adults.: Wliét was the total attendance?
A. 840 B. 460 P

D920

(5] STANDARD EIGHT 2015
MATHEMATICS Time: 2 Hours

What s five million eight thousand threehundredand {9, The mass of 8 boys in a Nairobi Primary School is '
three less a quarter of a million? | 46 kg. Seven pupils weigh 50 kg, ;13kg, 48kg, 30kg,
A. 5008303 B. 4758303 57kg, 40kg, and 48 kg. What is the mass of the eighth

C. 4258303 D. 5258303 boy? | -

What is the value of | A.54kg "~ 'B.34kg

27.9x0.63 N

& C.48kg D. 44kg

A.81 "B - §10.  Njuki used 66 poles to fence his circular fish pond. If
C.0.381 D.0.081 . the poles were placed at an intervals of 3 metres,
 What is the smallest number that can be divided by | what was the diameter of the pond?

8,12 and 20 without a remainder? A.98m B.3-l Sm e

A. 120 ~ B.60 C.63m DAIm

C. 240 D4 11. Whatis 50.8 + 2.2 correct to two decimal places?

Write 3 '/, % asa fraction inits simplest form? T A23.09 o

A, B.Y,, | = 23.10

C % D.Y,, - | c200

What s the difference between the total values of the D. 23.091

digits in hundreds and tenths in the number 528.2347 | 12, Abustravelled at an average speed of 72 kmv/h. What -

A.19.97 B.500.2 ‘was the speed in metres per second?

C.499.8 D.499.97 A2m/s B. 200011/s

What is the next number in the pattern? C. 200m/s D 20m/s

71,73,79, : 13. The marked price of a T.V set was sh 7500. Kiama
A9l B.85 was given 4 30% discount for paying in cash. How

C. 81 D.83 . * muchmoney did he pay for the T.V?

The price of tea mcreased from sh 100 to sh 120. “A.sh 5250 . B.sh2250
' What was the percentage increase? C.sh 9750 D:'sh. 7470

A.20% B.83 %% 1 14. A worker earns sh 12000. He saves '/, of his salary

C.16'.% D.25% - and uses 7/, of the remainder to pay for rent. He uses

the rest of the money to pay college fees for his

" daughter. How much doeshé pay as college fees?

A. sh 8000
C.sh3200

B. sh 4000
D. sh 4800



15.

16.

17.

18.

19.

20.

21.

22.

123.

24.

25.

26.

~ 4 bars of soap at sh 61 per bar
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A bus _&rii’fer drove from Nyeri to Na:mblatan

average specd of 45km/h. He drove back on the

 same route at an average speed of 60, km/h. Ifhe

took a total of 3hr 30 min, what is the total dlstance -
he covered" v _ '

A.90km B.252 km

C.12%6km D. 180 km

Juma bought the following items from a shop

2 kg of cooking fat forsh 215

3 kg of sugar @ sh 140 ,

1'/, litres of milk @ sh 35 per '/, litré.

He pald using one thousand shilling note. How much
did he add the shopk_eeper in order to be given a
balance of sh 20?

A.sh4 B.sh 16

C.sh6 . D.sh9s4

A farmer sold hns cow atsh 20000 makmg aloss of

30%. How much would he have sold it to make a

5% profit? ks ©
A. sh 300000 B.sh 14000 -
C. sh 230000 D. sh 25000

A businessman took aloan of sh 50000 from a bank.
The bank charged simple interest at the rate of 15%

p.a. Ifhe repaid the monc;y after 2 years, how much

did he repay altogether?
A. sh 65000 B.sh66125 |
Cshl6125  D.sh15000

Which of the following numbers increases by one

- hundred?

A. 542145, 543142, 544145, 545145

| B. 542145, 542245, 542,345,541845
. C. 542145, 542045, 541945, 541845

. D 542145, 542255 542365 542375

27.

One hundred 2d1 packets of mllk were emptled into a
50 litre container. How many niore 2c§ packets are
needed to fill the container?
A 150 B. 100

1C.300 D300
What is the value of 1 '/,0f ('/,-'/) +¥/ = . ‘
A. 1Y, B, 2%,
-, D. Y,
The area of the rectangle below is equalto thearea |
ofasquare. Whatistwice theperimetevr‘qf the square? |

- 56m

14m

- A.224m | B.784m.
C.112m D.56m ;
Solve the inequality - J'
8d-6>3d+4 : -
A.2<d B, [0l a5 = o j
C.d>3Y, D.2>d :
The volume of acylinderis 7392 cm’. [fthe cylmder
has a height,of 12cm, what is the diameter of the :
cylinder? | ' “ )
A. l4cm B.28cm -
C.7cm . .D. 35cm ¢
Atank is*/ ; full of water. When 156 litres are added
to it, the tank becomes %/, full. What.is the capacity §| i
of the tank when full? :

~ A624 B.395
C1% . Da4d

_ Construct thombus WXYZin which WX=XY= |
5cm Angle ZWX =70°. What is the length of the
shorter diagonal? ' SRy ;
A.3.lem; . B.82cm . .. j
C.5.7cm D.6.2cm :

x children bought y mangoes each. They later
discovered that n of them were bad. Tt_ggyzsha:ed the

remainine mangcaes .eanallv. Which ane of the



- 28

29.

30.

31.

32.

following expressions represeﬁts the number of "

mangoes each child got?
A xy-n "~ B.xyn
X X
C.xy-n - D.xy+n
n X

A salesman gets a coimission of 8% on the value of
goods he sells. In one monrh he sold goods worth

sh 200 OOO How much did the owner recelve"
A.sh 16000 o B. sh216000
C.sh184000  D.sh208000

The ratio of glrls to boys ina schootis 6:5. If there

. are 100 more girls than boys, what is the total number

of pupils in the school?
A. 110 B. 500
C. 600 D. 1100

The figure below represents the et of a solid

Which solid can be made from the net?

A. Trlangular prism B. Tnangularpyramld
C.Square prism D. Square pyramrd
- Work out ;-
2+4x8+4-2= 0
A8 B.10
C.6 D.14

A square garden has an areaof 4 ha. What will be

twice? A
A. 1600m B. 4800
C.800m D.240m

33.

134

A5

37.

'} 38.

G118
35.
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What is the value of a_tﬁc_gk ifa= 3

a+c
b=a+2and ¢ = 2a +1

A.6.2 B.22.2
C4.2 D.2

A roll of cloth, 540 m long was cut into equal pieces
each 3.6 m. If each piece was enough for a dress,
how many dresses were made from theroll?

A. 1500 B.150

D. 15

What is the value of x in the equation
3x-2(x+1)=47

B2

¢ 3 D.6

Find the area ofthe figure below.

 (2x+1)em
| @x-7)em
{x+7)cm
A.6cm® B.36cm?
C. 65cm? D.13cm?

ln a class 70% of the-pupils are boys Ifthere are 12
more boys than girls, how many girls are there‘7

A 12 - B.30

€. 21 D.9

The temperature of a quurd was 50°C. It wascooled

' untilitread 10° C in S minutes. What was the drop in

R terﬁp'eramm' per unit time?

39.
.the'lengﬁofthewirene&kdtofencemmdthegarden} dy fow, Doy

A. 12°C per minute B. 2°C per minute

C. 10°C per minute D. 8°C per minute

The figure below represents anopen cylmder




40.

41.

42.

43.

45.

C42t

-C. 40
Twelve men can dig a shambain 8 days They were | ]

‘What is its total surface area? _
A.2992cm? B.23320cm’
C.2376em’ D. 1760cm?
In the figure below lme ABis para.llel to CD. Angle
ABD =65°
A ool }
D s &
What is the value of angle CBD?
A.90° B. 250
C. 130° D. 50°

with the cement, find the mass of the empty lorry
A3t CUBOH02t

~ D.42t

The cash price of a DVD player is sh 12000. The
hire purchase price is 20% more than the cash price.
Owino bought it on hire purchase by paying 9 equal
monthly instalments of sh 1200 each. How much was

the deposit?
A.sh4200 - B.sh2400
C.sh 10800 D.sh 3600

An empty box weighs 1.6 kg. Aboy filled it with |
books until the total mass was 8.1 kg. Ifeach book

weighs 250g how many books were put in the box? |
' 150.

A.30 B.45°

D.26

jomed by some men at the start of work and the work

was done in 6 days How many more men joined f :

them"
" B.d B.4
C.16 D. 12

The figure below represents an.open rectangular prism. o

Esscsadle ab.amic snnlead

e’ vasasedl Ansas

46.

47,
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- What is the sum of the number of faces and edges?
A3 '

B.I7
C. 14 D.3
What is half the product of the LCMiand the GCD
of12,16.and 187 e |
Aldd B.148
C.288 D.290

A train took 3h 15 min to travel from Nairobi to

- Naivasha. Ifit reached Naivasha at 0200 h on Sunday.

48.
Alorry is loaded with 60 bags of cement each weighing |
50kg. If the lorry weighs 7.2 tonnes when loaded

149,

' C. 65" _ -
. The pie chart below show the dlseases affectmg 540

at what time and day had it left Nairobi?

A.2245hSaturday ~ B.1825hMonday

C.1515hSunday ~ D.1045h Saturday

The figure below is a trapezium whose area is

240 cm?. What is the distance marked with letter X?
X

8cm

[1

- 40cm _
A.16cm : B ‘ 8cm
C.20cm ~D.30cm. _
Draw a triangle PQR in which PQ"8cm QR—7cm
and angle PQR—60° Drop a perpendicular from P
and let it meet QR atS. What is the measure of angle
SPR? %
A. 240 B.5SO
..D.31°

patients in a certain hospital

Malaria

150°
HIV/AIDS

How many more patients had HIV/AIDS that .
diabetes? |
A.165
C. 110"

B. 285
D.225

RMATLIC _ ARI0I1E
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Time: lbonr 40 minutes

Read the broken passage below and fi !I in the blank spaces numbered 1 15 correct

1 fifteen minutes, Assistant 2 Musyoka listened to Dakama without .

were both 5 i 7

6 room of the .

.3..4'

‘house in Nairobi’s South B estate.

Dakama shifted in his seat from time to time to make his injured shoulder comfortable. On his dlscharge 8

hospital, the doctor had said that the bullet had just

doctor had __11

dream.A man

1. A.ln

2. A.comisioner

threat as he was

that he takes it easy and not over exert himself. He

B. By

B. commissioner

14

15 take it easy.

C. For

C. comissioner

a tendon and recovery 10 befast. The

felt like telling him that was a

~ D.At

D. commisioner

3. Adnterrupting B. inte;ruptioh' C. intefmpti.ve 23D mten'apted

4. A There B. These C.Their -“'.D They

5. Adsitted B. settled C.seated D. settling

6. Alliving’ B.leaving - ,c.teaﬁng-'f»'» ' D.tiveing

.7. A. policemans B.‘-polic-er'nan’s C. policemans’ D. policeman

8. A.for B.at . -C.in | - D. from

9. Ateared B. tore C.torn . D. ie‘ar

10. A would B.could C.should D.might

i A advise B. advised C.adviced ‘D. advice

13. Acon " ‘B.onto: : C.-in i : D.under

4. A.con{:ldn't‘ "B \\ouldnt (:?.-wivor‘l't D. shouldnt o

15. .A.,pfobably s hkely | ol bgssibl)‘?“ _D Lertamly
Email: stega. printersid@gmail.com ENG 8/05/15.



Powered By: www.eeducationgroup.com

For questions 16 - 17, ¢h correctonder | - N
of adjectives TR R, AT (e 21. "Martin takes after his uncle.

16. Atthepark, wesawa gtmffe z ~ A.resembles e B. ?aféd{‘.’tf
A.Maasai, young, brown spotted tall =~ | C. protects ~ D.iritates
B.brown spotted, tall, young, Maasai - . 5 B '
C.tall, young, brownspotted, Maasai | .’_V',!if’ e sentence in passive voice
D..tall, brown spotted,young, Maasai - 22. Annaridesabicycle. .
L ERRIE IR DA L e R PR G AT hicycle istede by Anna,
17. Jeremy carried a laptop. . : : B. The blcyc!e 1 riden by Anna.
: A. grey, small, Italian C. Abicycle is ridden by Anna.
B. small ftafian, grey D. Abicycle is been rode by Anna.
- C. grey,Italian, small ; : I Ry e
D. small, grey, ltalian *23.  The mechanic is repairing the truck
: - ~+ A.Thetruck isrepaired = :
Complete correctly oy _B. The truck is being repaired by the mechanic
18.  Youcan’tdo thisexam,canyou? - C. The mechanic has repaired a truck :
A. No. Tean _ - B.No.lcan't ~ D The truck has been repaired by the mechanic
C. Yes, [ can’t - D.Yes, [ will | ‘ ;
‘ - B Choose the correct prepositions
19. Richard swam very well, ? 24. lagree _ hissuggestion.
 _A.didn’the? B.didhe? - A, o B.with
Coigit? 5, . - D.stit? . Cby. . D. onto
: ’ ‘ 25. Wendy writes _ anink pen.
Replace the underlined phrase o - Adn ‘B.with
20. Nelima looked for herkeys in vain. : C.by - D. onto
A. sought B. found .
C.searched D. seeked

Read the following passage and tlten answ__guestmns 26-39.
- Itwasadream come true forF nends Scheol Kamusinga hockey team when they received the 2014 SOYA Award

atan event held at the Kenyatta International Conference Centre, last F riday. SOYA Awards are meant to honour the
best sports talent in the country and are graced by the famous sports people from various disciplines: Friends School
- Kamusinga are the East and Central Afnca region hockey retgnng champions. They won the regional title aﬁerm,g -

Maseno School during the 2014 regnonal champtonsh:ps held in Dar-es salaarn,Tanzama The school beat many other
contenders in the category as well. - ,

~ During the finals Friends School Kamusmga beat Maseno_a-O in the East Africa school games. | caught up with the
hockey team last weekend soon after attending the red carpet awards ceremony. The team’s joy knew nobounds. They
could hardly beheve lhey had tal\en the lead. Durmg the SOYA Awards ceremony. the boys mingled wnth 1 renow ngd
athletes such.as the overall winner. common wealth and Africa 5000m champion C aleb Mwangangi among othel S.

The captam told me that the award was a gi eat motn ation for the team and thé school in ueneral whichialso excels
inother sports disciplines and academics. The team had achieved victory duetg team work and suppon tromthe school’s

admlmstmuon Bem;: ; honoured together with the best in the country would motivate the team toreach g g_.reatcr hex 3hts and

(578 i Il 3 iy
n.r!t Foa kg _.-‘zls-:-.f_ _x.u!;“. B ¢ Had ] R4

toaim for more trophxes
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26.. According to the first paragraph 5 ' C. during the last part of the game
‘A. the team dreams a |ot. a2 g L D. just before the finals
B. the Kamusinga team has lost their gaine 33. Whendid the writer meet the team?
C.the friends school kamusinga hockey team was ; A. the following week
successful ’ B. immediately the award ceremony ended
D. the Award winners were hardly recogmzed ' €. soon after playing .
27. What’s the importance of SOYA Award? D. when attending the ceremony
A. to make the team happy o 34. What is meant by red cggpg t?
B. it’s given because the team was the best A.most honoured
C.tocreatefame - - - : - B. the award was painted red
D. it’s meant to recognize outstanding talent : C.the team walked along a red carpet
countrywide D. aceremony held on a red carpetl
28, emmemeee- and are graced by the famous------- » | 35. The work renowned is an antonym of
The sentence means that A. unfamiliar " B.famous
A. the award has numerous graces ; + C.wellknown - D.recognized .
B. the famous people receive the awards . . | 36. Astheboysreceived the awards, they
C. the well known sportsmen attend the ceremony ' A. mingled with other footballers
and award the winners B. interacted with well known players
. D.thewell disciplined athletes attend theceremony | ©  C.saw Caleb Mwangangi
29.. The word ‘beating’ as used to in the passage can be ' D. only met the overall winner common wealth
replaced with - : champion
A.losing » - B.awarding = - . 37.. According to the hockey captam
C. defeating - D. winning = A.-Kamusinga only does well inacademics
30. “Which ofthe following statements is true? B. the school excells in both sports and academics
A. The hockey competitions were heldoutofthe | - C. the team was demotivated by the award -
country - 1 D. the hockey team wastes time in the field
B. The Soya Awards took place in Kamusmga - | 38. Thehockeyteamdid well due to-
grounds : A. the spirit of team work
C. The Friends of Kamusinga wonthe award - B. the support from the school administration
D. Maseno school has always beaten Kamusinga | C. support from the school administration and
~ 31. The word contenders means ' [ - working together ¢ ;
A the cheering squad | e B ; D. their sports-manship skills
B. the'opponent players s 39. The best summary for the passage is
C. all other athletes : - A.Friends School Kamusmga shines in SOYA
D. friends of the team b ' Awards
32. WhenwasMasenobeaten?  * - : B. Great sportsmanshnp
A. from the start of the game ' C. An Award ceremony from SOYA
B. inthe first half of the game D. Hockey team is awarded

Read the [ollowing Qassage carefully and then answer questions 40-50.

Butterflies are part of the class of insects in the order Lepldoptera “Adult butterﬂles have !ar;,e often bn g,htly
colouredwings. and conspicucus fluttering fight! Some butterﬂles have parasltnc relauonshlps w 1th orgamsms mcludm
protozoans. ﬂ:es ants.other invertebrates aiid v crtcrbrdtgs i ‘ |

Somé'spécies aré pests. becaiise in the!r larval fStagés they can damage domestlc crops and trccs How ever.

DRI E S AF AR
some species are agents of pollination of some ‘plants and cagerp:llars of a few butter ﬂles 5 han estcrs eat h'1m1 ful

it ptiefdl g ;}
lnsects ; RATEIS R ; N

Culturally. butterfliés aré & poptikiri motif in the v 1su§l and literary arts. Butterﬂ les, m thelr adplt StdLC can h\ ¢ from
a week to nearly a year dependuw onilieir spécnes Many iéCCICS have long larv al staues whnls: others can remam
dormant in their pupal or egg stages and thereby survive \\lmers

&

FENG R/INS/158
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- Butterfly eggs are protected by a hard-ndged outer layer of shell called chonon Thls is lined w:th athin

coating of wax which prevents the egg from drymg out before the larva has had time to fully deveiop Each egg

contains a number of tiny funnel shaped _Qpemngs atone end, called micropyles; the purpose of these holes is to allow-

sperm to enter and femhze the egg.

Butterfly and moth eggs vary greately insize between species, but they are all either sphencal or ovate. The

eggs are fixed to a leaf with a special glue Wthh hardens rapldly As it hardens, it contracts, deforming the shape of -

the egg. The egg stage lasts a feu{’weeks and hatching may take place in spring.

40.

41,

C 42

43.

44.

A. pupal stage

Itis true to say that -
A. Butterflies aren’t true insects v
B. butterflies are the only one in the order

“Lepidoptera’

- C. mature butterflies heve ﬂutterihg flight

D. adult butterflies have small wings -
Some butterflies have parasitic relationships withall

the following except?
A.bees B flies
C. ants D. protozoa _ - -

Why are some buterflies referred to as pests?
A. because of their flight
B. due to their destructive nature

C:because of the parasitic relationship

- D. because all insects-are pests -

At what stage are butterﬂles hamtful"
_B. adult stage -
C. egg stage D.larval stage

It is true to say that- ey

A. some butterfly species help in po]lmatlon

B. all butterﬂles are useful

: C buttt,rﬂles eat harmful msectb

D. hawestors are very destrun.tn ¢
To remain donnant means-

A. wnthout huther growth

B. to grow dtastlcally

C. to remain alive without dymu

D lmmature butterﬂles

46. Chorionhelpsin. -

47.

48.

49,

A.maturity of theegg -

B. protection of eggs

C.to harden the egg

D. development of a hard ridged egg
Eggs do not dry out heeause '

A. of the hard ridge-

B.of the outer layer

- C. of athin coating of wax

D. of chorion

What are micropyles?

A. opening ina bean seed

B. small opemngs ona butterﬂy egg whlch are funnel
shaped '

C. funnel shaped eggs of a butterfly

D. very thiny eggs

Eggsofa butterﬂy do not fall off the leaves because

A. they are fixed firmly

B. they harden immediately they are laid

s t‘heyare protected by chorion

* D. the special glue firmly fixes them and they harden -

- ‘rapidly

. The best summary for the passageis-'

- A. Eggs of abuttertly

- B.Butterflies pivegdor AT bbbl e

C. Different butterfly species

D. How butterflies live

ENG RIOKI1S
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- C. Stomach : : :
The following are effects of water pollution except

Which one of the following is an excretory organ?
A.Rectum B Lqus
D. Intestmes

A. suffocation of water ammals
B. waterbome dxseases
C.acid rain

D. excessxve gmwth of algae

Class six pupils from Bidii anazy School ﬁlled a
tin that had holes on the bcltom with water. They
later poured the water on a bare ground Which .
one of the following observatlons did they make?

A. Shallow channels -
B. V shaped channels ‘
- C. Washing ofa thin layer of soil

D. Small holes
Creating public awaresness on HIV/AIDS can be
_doneinthe followmg places except .
A. workshops B. weddings
-C. crusades D. ﬁuaerals i
The nature of damage caused on crops by pests
depends on *Us '
A. time of attack
B. number of pest

e. type of mouth part of the pest
D. part of the crop attacked
Study the beak befow:

The beak is likely to be thatisfa

A. sunbird B.hawk = -

C. duck D. weavedr bitd
Which one of the followmg statements is true about
a spade when in use? : i

. anrrrils Qlneves DriintamctoNosss ool o .-

%

1 1o.

A. Theeﬁ‘ort 1sbetween load and fulcrum

' B.Théloadis between fulcrum and effort
C. The fulcrum is between load and effort.
D. The load arm is shorter than effort exam

8.  Oneof the following electric appliances used at
home is mcomectly matched w1th its use. Which
oneisit? - sl

Ag pliance Function . -
© AFridge - + cooling food stuffs -
B. Electric kettle -receive information
C.Emersion heater  -boiling water
D. Electric cooker -heating food
9.  Which one of the followmg foods will not be
' digested by the dxgestlve juice produced by the
. stomach? . ¥
A. beans _ B.meat
Cmik D. maize
Study the plant below

. The plant is adapted to survive inits liabitat in the
following ways except '
A. succulent stem
B. mcreased number of stomata
C. green stem

+Dr lack-of leaves: - 5
Class four pupils camed out the expenment below
using three blocksof wood o i

4 4




--AQ

12

13.

14.

15.

16.

Whtch block reached the bottom of the basm
3 ; 'n' i'z.: rg} PR
B P

C. None D R*

Puprls were asked to classxfy food based on the : |
'nutnents they contain. Who gave the correct

groupmg of foods wttﬁ same nutnents‘7

A. Ochleng Carrots kales spmach

B. NJOkl Oranges,ugalr beans

C. Salim: - Beans, nceugah el
D Konr Mllk, arrowroots sweet potatoes
Heat transfer throughavacuum is knownas
 B.radiation

D. condensatlon

A convectron

C. conductron ‘

A Class six puprls modelled the solar system as below f

Whrch error did the puplls make"
A. Drawmgelghtorbrts oo

- B. Modelhngdtife'rentsmes ofplanets

C. Placmg two planets inone orbtf
D Placmg sun at the centre
Which is the most effectlve way of preventmg

- spread of water bome drseases"

A Klllmg watersnarls

B. Washmg foods eaten raw,

C: Vaccmatlon ‘ i
D. Propersamtatron

Whlch one of the followrng is NOT aneﬁ"ect of force? :

__‘A Qpposemotron s

17.

B. Stoppmg a statlonety object ;

-C. Stop a movmg object

D Changmgtlge state o‘fmatter of an object.
Permanent hardness of water is removed by
A.boiling ' * Bfiltering

C. adding chemicals decantmg ‘

e A e
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activities are done by pupils using

k5 A».feel:ngitmﬂtﬁngers o

19.
20.

21,
Tt homeexcept ‘

22.

23.

D. church Windows

 B. makmgmodels

ol Immngrthﬂlcermnt :

: One of the followmg sources of hght can be used to .

light ahouse at night. Which one is 1t‘7

A. Candle B. Fire ﬂy
‘CSm - DiStas

Growing plantscanbeused by man n to make

A. medicine B splces ' ‘

C clothes D fence o

The followmg are proper ways of stonng medrcmes

’ A lable medlcmes before stonng

B completmg the dose grven
C. stonng mcool dry place o
D. storing omtments away from tablets

The 1llustratron below shows changes of state of

/‘*“‘““‘ \

SOlld

Liquid .

Whlch process leads to formation of xce"

A. Q B P
C.R : D S
Food preserved under canmng 1s ﬁrst hmted at very
hrgh temperatures mamly to : :
Akill germs
- B. k111 gennsandremo\fearr
C cook the food j‘,;‘“f

D.remove water ~ _

Transpare’nt matenals are used 0 mal(e all the
following except i

A. spectacles’ o

B. wind screens

C wmdows of bathrooms .

Wi ee Gt T s n iy
Geat g Ui e SO

QrIENCE _ORIRMMAS




2.

26.

277

28.

29.

30.

31.

: W}neh oneofthe followmg statementsbatexplalm

friction foroe‘?

A.Force that resists the shdmg df an object
B. Force to be overcomed

C. Force that speeds up movement of ob]ects

D. Force that pulls thmgs to the earth

~The followmg are advantages of orgamc manures :

except ,

A. nutrients stay in the soil for long

B. improves air cm:ulailon m the SOll

C. provides necessary nutnents to plants

D. specific nutrients can be estlmated

Which one of the followmg isa common human
mtestmalworm? . T B

C. RmgWorms ' D;* TP

Plants depend Oflammalsfm- :
A.support " B.habitat

C. pollination D. shelter

Which one of the followmg is not a functlon of the

liquid part of blood?

A. Transporrs oxygen

B. Transports food nutrients

C. Transportssalts = *

D. Transports hormones _ ;
'Ihe experunent below was carried out to mvestlgate
auseofa cenam gas -

The gas lnvestlgated was LII@L’? to occupy

percentagemthemr ol 3
A. 21 B.78 piveg
C.0.03 D.0.97

A heavy box was pushed ove_r round sticks this was
o D i i
A. increase friction

B. reduce the welght of the box

C. reduce ﬁ'ncnon ,
D. make the box heavy

AR RO

i 2

33.

M.

3.

37.

38.

3.
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_ Whnch one of the lelow;ng activities is done to

demonstrate that sound moves in all du'ecnons"

~~~~~

A.Drop thmgs from dtﬁ‘erent helghts

' B. Blmdfoldmgaparmerandnngmgabellforthem

‘to show the dn-ectlon

C. Usmg three cardsmastrmght 11ne

D. Tal;qng at the same time

Whlch one of the followmg does not happen dunng
birth? '

A. Uterine walls contract

B. Amnion sac breaks

g O Ammotlc ﬂmdrsnelwsed
‘D Utennewallsarereleamd

Wluchmeoftlwfollowmg groups consists of animal
feeds that ammalsgrazedxectly? i

A. Clover,napxewass grass -

B. Clovers,hkuyugmss bran .

- C.Lucem, klkuyu grass, desmodmm

D. Maize stalks oats, klkuyu grass
One of the followmg isa non magnetlc matenal
Which one s it?

A. Copper 'B. Cobalt

C.Iron D SteeI

thchof the follomngcmppwtsattacks seedhngs? _
A.Aphids -~ B Cutworms "

. Stalkborer D Weaver blrds

The whlte clouds that are hlgh 1n the sky have the

. followmg eharaetensncs except

A.have megular shapes
B. look like bundles of' cotton wool
C. have ﬂat bases

‘D. have rounded tops . v
The soﬂ that has rough texture is also hkely to

A; have poor passage of water

B. bﬁwmmosidm&
C.have low caplllanty
D. have few z;rr spaces

Studythcﬁgure below |

QCIENCE _.NR/IRI1E



41.

42.

43.

.

| ,WhmhletterwoddBESTrepresentacmcodﬂe al
 snakeandalizard? e

cnien Gl L
40.

- D. water and soil

- B.thesock should have many: small holm

D. decaying and becommgmamxre ;

AR B.l?,-»,f,
:D: 8. ,
Noise pollution can lead to thefollowmg effects
) except '
A.deafness

B. lack of concentration

C. ringing in the ears.

D. mental disorder e -
Two boys“nththesamehelghtsbmdxﬁ'aemwss&s
were balancing on a sea saw. To balance well

: Atlwyshouldsntatsamedxstanceﬁxm theﬁllcrum
" B.they should sit at the end of the pole W

C. the heavier boy should sit near pivot
D. the lighter boy should stand on thepole
The diagrm bdow shows a setup carried out while -

sepamnngmrxtlm

-

o -

-

.l'l.\,'n\
"l;- [
\I‘

(]

-—
—
-
—
-~

|l TR M

-
-

/7 T ;..Heétv' B

Itis hkely to be used to separate a mixture of
A. water and sa.lt C

B. flour and water

C. water and tea leaves -

While making a wmdsock whlch one, of the
followmg is not true '
A. it should have two open ends inthe sock

C. the pole should be }ong

D. the mouth end shoulq be mder ,
Animals that live in the soil help thesml rby
A.eatingpests -~
B. glvmgouthumus e , .
C. improving alrem;lﬂatlbn

e M) L R VT St oA TS S

| .

46.

47.

48.
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Which one of the following isa characteristic of all
A.theyexcrete . -
B.theygive birth
__C theywalk =
' D. they feed on plants .
Which one of the following shoxddbeavoxdeddumg
heavy thunderstoms?
A wearing red clothes -
B.sitting near five
C. wearing gumboots.
D.leaningonawall
‘ Watermthefannsnsnowsedfor
- A.mixing farm chemicals ..
'B. making foutains
C. watering plants
D.keepingfish :
Which one of the followmg is an adaptatlon to =
A Prwenceofwmgs ;
B. Presence of gills’
C. Webbed feet
D. Strong hind legs
The following are unportance of hghtmg ahouse

except

A, encouraging pests
B. for safety

C. reading comfortably
D. seeing clearly -
After leaving the hean oxygenated blood flows
through the , %
Apulmonaryvéin oo ol 5

BLwromom. i

85 puhnoharyattery Rl

D.aorta "' :

O IT AT AFinzas
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Study the map' of Nyandarua céunty and answer questions 1 - 7
. NYANDARUA COUNTY |

D.C . 1 /7 %

S - . /7
PS i s b P Y 874

>z
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- 10.

\
11.

- C. cool and wet

The area covered by the mapsiopes from
A. South West to North East’ PR R
B. North to South ' }.f 1
C. South West to North West " §
D. South to North : g
Nyandarua is likely to be located at ]
A. The Coast B. The H;ghlands

C. The desert D. The semi arid area-,
The main administrator of the area is likely to be

A.D.O B.D.C -

C. Governor D.P. C .
The settlement pattern of the area is hkely tobe
A. clustered _B. linear '

.C. nucleated D. sparSe

- Which one of the following economic actxvmes is

not found in the area?

A. tradmg B.farming =
- C. transport D._lujnberingw :
. The climate of the Eastern part of the area covgred
- by the map is o
.A.hotandwet = . B.hotand dry

D cool and humid

_The approxunate length of the tarmac road is likely

"tobe
“A.20.5km B. 25.5km
C.13km D.17km"

mountain?

A. Itis too cold for settlement

B. There are dangerous animals

C. Itis covered by the thick vegetation
D. The area has sparse population
Which one of the following is the odd one out?
A. Pokomo B. Digo

C.Kauma D. Jibana

_Bantus moved from Shungwaya to their present

land due to

A. search for fertile soils

B. attack by the Galla

C. poor climatic conditions

D. search for pasture for their ammals

~Which one of the followmg groups consist of |
- members of the same langtjage group?

A.‘Abagusii‘,Abakuria. Luo

3.

| 14.

- 16.

17.

18.
Why do people avoid settlmg at the top of the ‘

19.

20.

|21

22.

" C Dmka Shilluk, Pokomo
3 - D. Eantls. Kwahu, Nzlma
12.

: C formatlon of rainfall
15,

"A. block mountains
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B. Baganda, Chonyi, NyamweZI 20T

‘Which one of the foIlowmg skillls was taught in

mdxgenous education?
A. hunting B. reading
C. printing - D. writing

Who among the following explorers carried out
activities along river Zambezi?
A.David Livingstone: B. Krapf
C.Rebmann D: Vasco da Gama)'
The rotation of the earth causes
A. day and night B. seasons |
D. change in tlme _
Mt. Kenya Mt. Meru and Mt. thmanjaro are
examples of \ -

B. residual mountains
C. fold mountains D. volcanic mountains
The earliest inhabitants of South Africa were-
A.Khoikhoi .~ B.San
C. Dutch Z D. Khoisan
Which one of the following instruments measures
both strength and direction of wind?
A. windsock B. anemometer
C. windvane D. compass

Which one of the following groups is the odd one

out?. _

A. Nyamwezi B. Akamba

C. Hehe ' D. Baganda
Which soil is also called black cotton soil?
A. sandy soil " B. clay soil

C. loam soil D. alluvial

Why should children take care of family properties?
A. They love their family :

; B. To show sense of responsibility
C. To earn favour from their parents

D. Because their families are poor.

The meeting by the European colonialists to partition
Africa was held in
A. 1944

C. 1895

' _B. 1846
D. 1920°

Three of the following are cbaracteristics of.

equatorial climate. Which one is n\ot‘?



23.

24.

- 25.

26.

2%

28.

29.

30,

A. The region lies between the tropics

B. It receives rainfall throughout the year

C. Presence of hardwood trees
D. High range of temperatures .. '
Three of the following are collaborators except

A. Lewanika B. Kabaka Mutesa 1
C.Kabaka Mwanga -~ D. Karuri wa Gakure -
What i is weather? -

- A. Amount of rainfall recorded daxly

B. Average weather conditions for a long time - :
C. Daily weather conditions of a place - -

D. The highest and lowest temperature recorded
Which one of the following is an -economic
importance of soil?

A. decorating bodies

B. building terraces

C. making bricks

D. making residential house - - -

\

‘Which one of the following countries used |

constitutional means to gain independence?

A.Kenya B. Mozambique
. C.Ghana . D. Zimbabwe
Which one of the folowing methods of ﬁshmg
allows overfishing?
A. Trawling B. spearing
£ purse-semmg D. lining -

Which one of the followmg is correctly matched'7

Country  Capitalcity
A.Burundi ~ Maputo
B.Zambia - Actra
C. Ghana Bunjumbura.

D. South Sudan Jumba RE o g
Which one of the following is the role of a prefect
in the school management? :

A. Employing teachers

B.Giving extra-wqu

C. Maintaining school discipline among pt_ipils

D. Writing noise makers

* Which one of the following factors can lead to slow A

population growth? - :
A. marrying many wives .

_ B. early marriages

PRI CEIEES bl [
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31.

32.

33.

34.

35.

~
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The main reason for the eastablishment of Mwea
Tebere irrigation scheme wasto |

A. increase food production =

B. tosettle landless people - . -

C. make use of less productive land

D. econormcally use water of River Tana

The main crop exported from Kenya today is

A. pyrethrum - Bitea. -
C.coffee :D. rice
‘The staple food in Kenya is

- A.maize ‘B. bananas
C.tea - D.rice '

Who among the following leaders mAfnca was the

- greatest poet? :
~A. Leopold Sedar Senghor .

B. Julius Kabarage Nyerere -~ -

/_ C. Johnstone Kamau Ngengi

D. Colonel Gamel Nasser .

Use the miip below to answer questions 35-38

A. Equatorial

The region marked x x x x received a type of climate
called -
B. desert

C. mediterranean D. mountain

When is the sun overhead at latitude W? .

A.June - B.March
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38.

39.

40.

41.-

42.

© 43.

44.

45,

- 46.

to.

18
i A insecurity

A. water
C. railway

C. April : " D.December . .
The country marked K was colonized by -

A. French B.Italian- :

C. British ~ D.German °

The main reason for the river project marked P is

A.provide water for irrigation

. B. produce HEP

C. to control flooding

D. provnde water for domestic use

The main contnbutlon of tea farmingto thc economy
of Kenya is

A. it create jobs :

B. development of infrastructure .

C. earn foreign exchange

D. development of communieation network

Which one of the following minerals is used in

making cement? . e
A. sand B. limestone
C. soda ash D. floupar

‘The ‘main reason that led ‘to the growth and

development of Nakuru town is
A. presence of minerals
B. as tourist attraction site.

C. due to construction of Kenya-Uganda railway
D. as an agricultural collection centre

The main problem facing pastoralists in Kenya today

B. prelonged drought
C. cattle rustlmg, D. diseases and pests
Which one of the followmg is not a fish farm?

A. Sagana B. Kibos

C. Muguku . D: Lake Jipe

The main factors favo&in;g large scale dairy farming
in Kenvan highland is’ ' :

A. cool and wet ¢limate

B. milk storage farms

~C. availability of labour

D. presence of K.C.C

“The slowest but cheapest means of transport is

B: road

D. cable

The main problem facing marine fishing in the coast
of Africais '

47.

49.

50.

52.

N

rh

148.

A fril'it canning

C. 1965
- The main problem facmgtounsm in Kenya today is

A. Jomo Kenyatta

_ C. the headteacher
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. A.lack of funds - -

B. no proper management

C. lack of market

D. poor climatic conditions

Which one of the following is a service industry?
B. milk processing ‘
C.sawmilling - D. tyre re-trading

The main factor to consider wh: e locating a bal\ery
industryis 4

A.market availability - B. ldbour avallablhty

C. presence of water  D. presence of security
African socialism in Kenya was introduced in
A. 1960 - B. 1963

D. 1978

A. insecurity

B. pollution |

C. lack of houses A

D. reduction of Vth‘e. wild animals

- The first chairperson of OAU was

B. Julius Nyerere

C. Haille Sellasie D. Ben Beira

The secretary to the school committee is

A.one elected parent  B. the deputy headteacher
D. the school headboy

A member of parhament: is elected to represent
people in the parliament. This type of democracy

. is called

h

A. parliamentary democracy

B. direct democracy

C. civil democracy

D. indirect democracy :
The game reserves in- Kenva are manas_ed by
A. nanonal government '

B. Kenya Wildlife Services

C.county s:oven'nments“

D. location committees.

. Which of the following events that happen«.d after

independence came first? -
A. formation of Kenya People’s Union -

'B. death of John Robert Ouko

C. repeal of section 2(a) of our constitution
D. death of Ronald Ngala
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56. The state of emergency was hﬁed by

57.

S8.

59.

60.

61.

62.

63.

64.

" A.Sir Evalyn Barring

B. Sir Patrick Reinson iz

C. Sir Edward Northery h

D. Sir MacDonald ,

The highest court in Kenya is the

B. high court

D. niaigistrate court

A. supreme court
b. court of appeal
The main function of parliament is to
A. punish criminals

B. settle disputes -

C.ammend laws

D. formulate govemment 'pollcxés

Who among the following is not a member of cabmet
 A.The presxdent

B. Deputy presndent '
C. Cabinet secretaries D. The Chlef Jusuce

~The road sign means

B. no u- turn’
D. round about ahead

A. bumps ahead
C. drive with caution

-

C C.R.E
The sun, moon and stars were created by God during .
the day. .
A3 ~ B.2v
C. 4 D, 5%
The father of faith in.the Bible was
A. Abraham B. Moses.
C. Noah D. Isaac

Which one of the fol lowing happened at the foot of
Mt. Sinai?

A. Moses was given the ten commandments

B. Moses met his father in law Jethro

C. Moses married Zipporah

D. Moses built the Holy altar

Which one of the following commandments shows -

respect for life?
A . -4Ih
C. 5

B. 3rd E
A D 6tll o

Hoip e L e T

1 69.

70.

73.

65.

67.

68.

171,

| 2.
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A\

Who among the followmg wasa Judge apriest and '

a prophet?
A.Moses : B. Deborah
C Samuel D. Joshua

- Who brought the ark of the covenant in the temple

mJerusalem‘? - L
- A. Solomon B.David
C. Saul . D.Amnon

From the incidence of King Ahab and Naboth,
christians learn that they should

. A. be greed for money

B. humble thems_elveé v
C. be contented with what they have

D.kill their neighbours

The prophet who brought back to hfe the son ofa -
widow i is_

A. Elijah B. Hosea ‘-
C. Joel D. Zacharia
Jesus was cxrcumcxsed at the age of
A. 40 days ~ B.8days .
D. 12years.” D30years B
Who among the following wanted to kill baby Jesus"
A. Herod B. Caiphas
C. Anas | 'D. Cain

“This is my own dear son with whom am well
pleaséd with; listen to him.” These wofds were
heard during |

A. transfiguration of Jesus

B. Baptisin of Jesus

C.the wedding at Cana of Galilee

D. the day of pentecost

Which one ofthe following parables is the odd one

out? -

A. A friend at midnight -

B. The widow and the judge

C. The mustard seed

D. The pharisee and the taxcollector

Jesus said, “Talitha kaum”, When did Jesus use
these words? ' - '

A. When raising Lazarus

B. When raxsmg Jairus daughter

C. When raising the son of a widow at Nam

D. When healing mother—m law of Peter



74.

75.

76.
717.

78.
79.

80.

81.

82.

83,

84.
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Which one of the following activities is found in both

~ christianity and Traditional Afncan Society?

'A.baptism

- B.reciting prayers .

C. offering animal Sacriﬁces

~ D. burning incense

Johna standard 8 boy saw two boys ﬁghtmg As a -

chnstran what should he do" A

A. inform the other puprls s

B. separate them V

C. inform the headteacher

D. allow them to fight ;

Mary despises other pupils inclass hecause she

comes from a well up family. As a chrrstlan Mary
should

- A contmue that way

B.humbleherself il %

C. transfer to another school

"D. help others ‘
Sex between boys and-girls to prove their manhood -

and womanhood is called
A. fornication - - B. rape
C. incest D. gayism

Which one of the following activities would a

christianinvolve himselfin durmg lersure time?

A. watch movies

'B. reading the Bible

¢ helpmg the needy ~
D. drawmg christian charts

The main reason why christians should not misuse

drugs is

A. they lead to addlctlon

B. they lead to famlly breakups ,
C. they lead to mrsuse of money o

D they lead to lll health |

1 85.
Peter dénied Jesus chrlst three nmes because &
A. he was afraid of the crowd RN
B. he was greed for money :
C. he lacked faith ;
D. he had promlsed Jesusto do s0.
Who among the followmg did not see baby Jesus‘7 1 86.
A. Mary ;
B.Joseph | | N o & "’
C.John the Baptrst ,b . i :
D. relatives of Mary and Joseph
Who among the followmg asked for the body of
Jesus for burial?. ' 187.”
A. Joseph of Arlmathaea"r ' ':'B."Nic'ode:mus :
C.Simon the magician ~ ~ D. Simon of Cyrene
Who among the following prophesied about the
pentecost day? Prophet
A.Amos ~ B.Joel
C. Zachariah D. Daniel e T s A
Who among the following is the odd oneout? | 88.
A. Meshack ‘ B. Daniel
C: Shadrack D. Abednego
Paul raised a boy called Eytcus at
A. Troas B. Phillippi 189.
C. Debre D. Gaza ,
Which one of the followmg isnota frurt of the holy
sprrrt" :
A.love B. faith .
C. faithfulness D goodness
The first christian martyr was 190.
A. Stephen " B. Daniel
C. Darius " D.Seth .
Who among the following is found in both chnstramty
andin Africa Tradltlonal Soc1ety" ’
=, diviners B prophets t
C. pastors "D. medrcmemen 3
In the apostles creed, Jesus is referred to as i
A.lord - B. almrghty :
" C. father D. universe
In African Tradmonal Socrety, marrlage was sealed §
using ’
A. dowry " B. children - 5
C. l0ve. i ' D farthfulness |
2

SOCIAL STUDIES - 05/8/45
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A COMPOSITION MARKING SCHEME

MARKING CRITERION : :
1. The composition will be assessed according to the following guidelines.
- The maximum mark will be 40 and the minimum (mark 01)
- Does the script show that the candidate can communicate accurately. flucntly and imaginatively in English?

Accuracy (8 marks) ‘
a) Correct tenses and agreement of verbs (4 marks) b) Accurate use of vocabulary (4 marks)

(16)  ¢) Following a sequence ( 4 marks) d) Correct punctuation (4 marks)

Fluency (8 marks)
a) Words in the correct order (4 marks) b) Sentence connection and paragraphs (4 marks)
¢) Correct spelling (4 marks) ' d) ldeas developed in logical sequence (4 marks)

.{ Imagination (8 marks)

a) Unusual but appropriate use of words and phrases (4 marks)
b) Variety of structure (4 marks)
NB: Please, teachers are requested to scrutinize this marking scheme before use, it is worth
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JINA LAKO

NAMBARI YAKO

|91NA LA SHULE YAKO

smEs ) STEGA SERIES
KISWAHILI SEHEMU YA PILI: INSHA
DARASA LA NANE 2015

MUDA : DAK 40

~ SOMA MAAGIZO HAYA KWA MAKINI

1. Kwenye nafasi zilizoachwa hapo juu andika Jina lako, Nambari yako kamili ya mtihani na jina la
Shule yako.

2. - Sasa fungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha yako kwenye nafasi
uliyoachiwa.

B

Kiiitaha hiki kina kurasa nne zilizoniswa chapa . ' FUNGUA UKURASA
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Umepewa mwanzo wa insha. Iandlke kwa maneno yako mwenyewe na uifanye iwe
,ya kusnsnmua uweza\’yo. : .

et \ N

Visa vya ugaidi vimeongezeka sana katika nchl hii yetu na ullmwengu kwa
jumla.....ccoconnnnnnenennn. - ’ SHg
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INDEX NUMBER

NAME OF YOUR SCHOOL

STEGA SERIES |
@ ENGLISH SECTION B: COMPOSITION

' STANDARD EIGHT 2015

TIME: 40 MIN

READ THESE INST RUCT IONS CAREFULLY

1 In the spaces provided above write Your Name, Full Index Number and the Name of Your
School.

2. Now open this paper, read the Composition- subject carefuly and write your.
composition on the lines provided.

. This question paper consists of 4 printed pages

: S TURN OVER
© Stega Print & Publishers Ltd .
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The following is the begmnmg of a story Complete itin your own words and make lt
as mterestlng as poss:ble.

\ It was rammg heavnly that Friday afternoon I was walkmg along the road when I
. heard a car trying to stop. ......ccccevceeennen T

e
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